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Name: __________________________________



1
Which function is not one-to-one?

	1)
	[image: image1.png]




	2)
	[image: image2.png]




	3)
	[image: image3.png]




	4)
	[image: image4.png]






2
Which list of ordered pairs does not represent a one-to-one function?

	1)
	[image: image5.png]




	2)
	[image: image6.png](1,2),(2,3),(3,4),(4,6)





	3)
	[image: image7.png](1,3),(2,4),(3,3),(4, 1)





	4)
	[image: image8.png](1,5),(2,4),(3,1),(4,0)







3
Which diagram represents a one-to-one function?

	1)
	[image: image9.png]




	2)
	[image: image10.png]




	3)
	[image: image11.png]




	4)
	[image: image12.png]






4
Which graph represents a one-to-one function?

	1)
	[image: image13.png]




	2)
	[image: image14.png]




	3)
	[image: image15.png]




	4)
	[image: image16.png]






5
Which function is one-to-one?

	1)
	[image: image17.png]




	2)
	[image: image18.png]f(z) = 2"





	3)
	[image: image19.png]f(z) = x°*





	4)
	[image: image20.png]f(x) = sinx







6
Which relation is one-to-one?

	1)
	[image: image21.png]




	2)
	[image: image22.png]y=x-2x





	3)
	[image: image23.png]




	4)
	[image: image24.png]






7
Which function is one-to-one?

	1)
	[image: image25.png]




	2)
	[image: image26.png]g(x)=x"+2





	3)
	[image: image27.png]f(x) = |x| + 2





	4)
	[image: image28.png]






8
Which diagram represents a relation that is both one-to-one and onto?

	1)
	[image: image29.png]




	2)
	[image: image30.png](T





	3)
	[image: image31.png]




	4)
	[image: image32.png]






9
Which relation is both one-to-one and onto?

	1)
	[image: image33.png]




	2)
	[image: image34.png]W





	3)
	[image: image35.png]/]





	4)
	[image: image36.png]






1
ANS:
4

(4) fails the horizontal line test.  Not every element of the range corresponds to only one element of the domain.
REF:
fall0906a2

2
ANS:
3
REF:
061501a2

3
ANS:
3

In a one-to-one function, if [image: image37.png]


, then [image: image38.png]


.  The graph of a one-to-one function passes the horizontal line test.
REF:
060216b

4
ANS:
3

(1) and (4) fail the horizontal line test and are not one-to-one.  Not every element of the range corresponds to only one element of the domain.  (2) fails the vertical line test and is not a function.  Not every element of the domain corresponds to only one element of the range.
REF:
081020a2

5
ANS:
2
REF:
011225a2

6
ANS:
3

[image: image39.png]


 passes the horizontal line test.
REF:
081617a2

7
ANS:
2
REF:
061218a2

8
ANS:
4
REF:
061303a2

9
ANS:
2
REF:
011407a2

